				PNR		
Property Property (Inc. and Associated Assoc	241 MAGE 1810 A TACAL	OF CONTRACT	1.0	ONTRACTIO CODE PAGE OF PAGES		
AMENDMENT OF SOLICITATION	ON/MODIFICATION	OF CONTRACT	CHAS	EREQ. NO. [5. PROJECT NO. (If applicable)		
Z. AMENDMENT/MODIFICATION NO.	3. EFFECTIVE DATE	RFPA 33-91-186 dtd 7/29/92  7. ADMINISTERED BY Af other than Item 61 CODE				
four (4)	9/28/92					
U.S. Nuclear Regulatory Commi Division of Contracts & Prope Washington, DC 20555	ssion rty Management					
B. NAME AND ADDRESS OF CONTRACTOR	No., street, county, State and	ZIP Code)	41	SA. AMENDMENT OF BOLICITATION NO.		
I-NET 9430 Rockledge Drive Suite 640			PR. DATED (SEE ITEM II)			
Bethesda, MD 20817 Principal Investigator/Techni Contact: Bruce Adams		X	NRC-33-91-186			
Telephone No. (301) 564-6827	AND DESCRIPTION OF STREET AND DESCRIPTION OF STREET ASSESSMENT AND ADDRESS.	6/31/91				
CODE	TEM ONLY APPLIES TO	AMENDMENTS DE S	SOLK	A comment of the comm		
MENT TO BE RECEIVED AT THE PLACE DES IN REJECTION OF YOUR OFFER, If by virts letter, provided each telegram or letter makes ref.  12. ACCOUNTING AND APPROPRIATION DA. APPN No.: 31X0200.210 B&:  13. THIS ITEM IT MODIFIED.  4. THIS CHANGE ORDER IS ISSUED PUT TRACT ORDER NO. IN ITEM 10A.  L. HE ABOVE NUMBERED CONTRACT appropriation date, etc.) SET FORTH IS C. THIS SUPPLEMENTAL AGREEMENT	SIGNATED FOR THE HECE SE of this amendment you de levence to the solicitation and ITA (I) required)  R No.: 210-20-62-2  APPLIES ONLY TO MO ES THE CONTRACT/OR PREVANT TO: (SPERY) 6-1/th  T/ORDER IS MODIFIED TO NITEM 14, PURSUANT TO  IS ENTERED INTO PURSU  REQUIREMENTS	PT OF OFFERS PRIOR sire to change an offer aim this amendment, and is median to the semendment, and is median to the semendment, and is median to the semendment of the semend	01862 NTR. BED ET FO	2-2 OBLIGATE: \$215,941.00 ACTS/ORDERS,		
E. IMPORTANT: Contractor is nut.	XX is required to sign	this document and ret	urn_	copies to the issuing office.		
9210190048 920925 PDR CONTR NRC-33-91-186 PDR  Except as provided herein, all terms and condition of the con	SEE THE FOLLO	WING PAGES	hereic	ofore changed, remains unchanged and in full force DE CONTRACTING OFFICER (Type or print)		
VICE PRESIDENT	19/25/5	NED TOP ONLYED STAT	ESPO	10.0		

30-105

NSN 7540-01-152-8070

STANDARD FORM 30 (REV. 10-83) Prescribed by GSA The purpose of the modification is to: (1) revise subsection B.3 to incorporate two additional primary Telecommunications Specialists (one Level 1 and one Level 2) to support NRC's planning efforts in relocating to Two White Flint North (TWFN), (2) revise subsection C.4 to incorporate personnel requirements for the two additional telecommunications specialists and expand the personnel requirements for the telecommunications specialist designated as the Project Manager/ Level 1, (3) provide incremental funding in the amount of \$137,023, which fully funds the subject contract, (4) increase the contract ceiling amount by \$78,918 due to an increase in the level of effort, and (5) revise the key personnel clause. Accordingly, the contract is modified as follows:

 Subsection B.3, schedules nos. 2 and 3 are deleted in their entirety and the following is substituted in lieu thereof:

11						
"	LABOR CATEGORY	ES'		UNIT	UNIT PRICE	AMOUNT
2.	Contract Year 2	(6/01/	92 - 6/	(02/93)		
a.	Communications Spec Project Manager/Lev		2100	hr.	\$33.19	\$69.699
b.	Communications Spec Level 2	ialist	2100	hr.	\$20.66	\$43,386
c.	Communications Spec TWFN kelocation Coo Level 1	ialist rdinator	1400*	hr.	\$28.15	\$39,410
d.	Communications Spec for TWFN relocation efforts/Level 2		1400*	hr.	\$20.66	\$28,924
e.	Communications Spec Level 2 Backup	lalist	2625	hr.	\$20.66	\$54,233
f.	Communications Spec Level 2 Backup-Over		125	hr.	\$31.00	\$3,875
TOTA	L ESTIMATED LABOR FO	R SECOND	YEAR	(CEILING)		\$239,527
TOTA	L TRAVEL FOR SECOND	YEAR (CE	ILING)			6,849
TOTA	L ESTIMATED AMOUNT F	OR SECON	D YEAR	(CEILING)		\$246,376

<sup>\*</sup>The number of workhours is based on the perio of 9/28/92 - 6/02/93.

Contract No. NRC-33-91-186 Modification No. Four (4) Page 3 of 4

	LABOR CATEGORY		EST. HRS.	UNIT	UNIT PRICE	AMOUNT
3.	Option Contract	Year 3 (	6/03/93 -	6/02/94)		
ā.	Communications Project Manage	Specialist r/Level 1	2100	hr.	\$34.69	\$72,849
b.	Communications Level 2	Specialist	2100	hr.	\$21.59	\$68,808
c.	Communications TWFN Pelocation Level 1	Specialist n Coordinat	2100 or/	hr.	\$29.42	\$61,782
d.	Communications for TWFN reloc efforts/Level	atio	2100	hr.	\$21.59	\$45,339
е.	Communications Level 2 Backup		2100	hr.	\$21.50	\$45,339
f.	Communications	Specialist	100	hr.	\$32.59	\$3,239
TOT	AL ESTIMATED LAB	OR FOR OPTI	ON YEAR (	CEILING)		\$297,356
TOT	AL TRAVEL FOR OP	TION YEAR (	CEILING)			\$6,845
TOT	AL ESTIMATED AMO	UNT FOR OPT	ION YEAR	(CEILING)		\$304,201"

2. Subsection B.5 entitled "CONSIDERATION AND OBLIGATION-DELIVERY ORDERS (JUNE 1988)," the contract ceiling amount is increased by \$78,918 from \$283.023 to \$361,941. Therefore, the first sontence of paragraph a. is revised to read as follows:

"a. The total estimated amount of this untract (ceiling) for the products/services ordered, dolivered, and accepted under this contract is \$361,941."

In addition, the contract obligated amount is increased by \$215,941 from \$146,000 to \$361,941. Therefore, the first sentence of paragraph b. is revised to read as follows:

"b. The amount presently obligated with respect to this contract is \$361.941."

Contract No. NRC-33-91-186 Modification No. Four (4) Page 4 of 4

- Subsection C.4 entitled Personnel Requirements is deleted in its entirety and the attached requirements are substituted in lieu thereof.
- 4. Article H.1 entitled "Key Personnel" is deleted in its entirety and the following is substituted in lieu thereof:

"Steven Jeffrey Anthony Bryant Jeffrey Plum Robert Martin"

All other terms and conditions of this contract remain unchanged.

A summary of obligations for this contract, from award date through to ce of this action is given below:

Total FY 91 Obligation Amount: \$61,000 Total FY 92 Obligation Amount: \$300,941

Cumulative Total of MRC Obligations: \$361,941

This modification obligates FY '92 funds in the amount of \$215,941.

- C.4 Personnel Requirements
- C.4.1 The contractor shall provide a minimum of four Telecommunications Specialists (two Level 1 and two Level 2) who will be located at the NRC provided office space. Backup Telecommunications Specialists shall be provided in accordance with paragraphs B.4 and C.3.3 herein. The Telecommunications Specialists shall be available during the core hours of 8:00 am to 4:00 pm, and after the core hours on an as needed basis.
- C.4.2 All telecommunications personnel performing the requirements of this specification shall be U.S. citizens.
- C.4.3 One Level 1 Telecommunications Specialist shall be designated as the Contractor's Project Manager with total responsibility for all duties and operations listed in Section C.3 and in addition, manage TWFN relocation efforts, manage the ongoing telecommunications account records review, direct on-site supervision of contractor personnel and coordinate all activities with the NRC Project Manager. The Contractor's Project Manager shall have a minimum of six years experience in the voice/data telecommunications field in addition to.
- C.4.3.1 A minimum of one year experience as a Project Manager (Government Contract support as Project Manager is desirable).
- C.4.3.2 A working knowledge of Dbase III, Lotus 1-2-3, Wordperfect 5.0, Electronic Key systems and data communications, i.e Local Area Networks (LAN), Wide Area Networks (WAN) and mainframe to mainframe/terminal communications.
- C.4.3.3 A good working knowledge of WITS.
- C.4.3.4 Good personal communications skills, both written and oral.
- C.4.3.5 Experience and ability to perform cost analysis of telecommunications systems and equipment.
- C.4.3.6 Three years experience in the development, processing and review of work orders, key sheets and floor plans.
- C.4.3.7 Two years experience in the operation and maintenance of Private Branch Exchange (PBX) systems.
- C.4.4 One Level 1 Telecommunications Specialist shall be designated as the TWFN Relocation Coordinator and shall perform duties as listed in section C.3, where applicable, with additional responsibility over TWFN relocation efforts, coordinating all activities with the Level 1 Telecommunications Specialist/Project Manager and the NRC Telecommunications Branch TWFN Move Coordinator. The TWFN Relocation Coordinator shall have a minimum of five years experience in the voice/data telecommunications field in addition to:
- C.4.4.1 Experience in organizing office relocation efforts to include planning, acquisition of new telecommunications systems and equipment and coordination with other NRC designated relocation teams.

- C.4.4.2 A working knowledge of Dbase III, Lotus 1-2-3, Wordperfect 5.0, Electronic Key systems and data communications, i.e Local Area Networks (LAN), Wide Area Networks (WAN) and mainframe to mainframe/terminal.
- C.4.4.3 A good working knowledge of WITS.
- C.4.4.4 Good personal communications skills, both written and oral.
- C.4.4.5 Experience and ability to perform cost analysis of telecommunications systems and equipment.
- C.4.4.6 Three years experience in the development, processing and review of work orders, key sheets and floor plans.
- C.4.4.7 Two years experience in the operation and maintenance of Private Branch Exchange (PBX) systems.
- C.4.5 One Level Two Telecommunications Specialist shall perform duties as listed in section C.3 where applicable, coordinating all activities with the Contractor's Project Manager and the NRC Project Manager. This Telecommunications Specialist shall have a minimum of four years experience in the voice/data telecommunications field in addition to:
- C.4.5.1 A working knowledge of Dbase III, Lotus 1-2-3, Wordperfect 5.0, Electronic Key systems and data communications, i.e Local Area Networks (LAN), Wide Area Networks (WAN) and mainframe to mainframe/terminal.
- C.4.5.2 A good working knowledge of WITS.
- C.4.5.3 Good personal communications skills, both written and oral.
- C.4.5.4 Experience and ability to perform cost analysis of telecommunications systems and equipment.
- C.4.5.5 Two years experience in the development, processing and review of work orders, key sheets and floor plans.
- C.4.5.6 Two years experience in the operation and maintenance of Private Branch Exchange (PBX) systems.
- C.4.6 One Level Two Telecommunications Specialist shall perform duties as listed in section C.3 where applicable, additionally supporting TWFN relocation efforts, coordinating all activities with the TWFN Relocation Coordinator and the Telecommunications Branch TWFN Move Coordinator.
- C.4.6.1 This Telecommunications Specialist shall have the same qualifications as set forth in paragraph C.4.5 through C.4.5.6.